Optimization methods, Tutorial 6 Last update: April 24, 2017

The sixth homework are Problems 2 and 6.

Problem 1. Find all vertices and edges of a polyhedron determined by the following conditions.

1 + Xy + I3 S 8
T S 6
T2 + 13 < 4

Ty, T,23 = 0

Problem 2. Find all vertices and edges of a polyhedron determined by the following conditions.

2%1 + To + T3 < 14
2%‘1 + 51’2 + 51’3 S 30
1, r2,23 = 0
Problem 3. Solve the following problem
Maximize x; + 29
subjectto x; + 3xy + x3 = 4
2.132 + x3 = 2
Ty, 22,73 > 0.
Problem 4. Solve the following problem
Maximize x; -+ 29
subjectto 3 — xy < 2
—r;1 + @y <1
2$1 + X9 < 7
T1,%9 > 0.
Problem 5. Solve the following problem
Maximize x; + 2x9 — I3
subjectto 2z; + =z + x3 < 14
41’1 + 2!132 + 31’3 S 28
21’1 + 5332 + 5%3 S 30
Ty, T2,X3 2 0
Problem 6. Solve the following problem
Maximize 2r; — xo -+ 2x3
subjectto 2z; + w9 < 10
T + 21’2 — 2!133 S 20
T + 2273 S 5
T1,T2,T3 Z 0



